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BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
10828 |S=kTE B 200 54 10,800 27| 5,400 27| 5,400
hERTE B 200 18] 3,600 18] 3,600 0 0
10A38 |#h#kfaESE (A3 200 15 3,000 0 15| 3,000
10848  |FikfaES& A3 200 13| 2,600 9] 1,800 4 800
EN =) S 200 70| 14,000 42| 8,400 28| 5,600
10858 |S=kXE B 200 57[ 11,400 28| 5,600 29[ 55800
hELTE Fx 200 8] 1,600 0 8] 1,600
$EABR(1.5) et 600 154 92400 108| 64,800 46| 27,600
1068 |#H#kfaE& (A3 200 23] 4,600 10| 2,000 13| 2,600
108108 [S=kXb B 200 85| 17,000 62 12400 23] 4,600
hELTE Fx 200 4 800 4 800 0 0
JOval)—(0.75 FHE 150 31| 4650 31| 4,650 0 0
10A11H [#HkfaEE E£EE 200 20| 4,000 0 20( 4,000
108128 |$ikfaE& A3 200 12| 2,400 12| 2,400 0 0
FEABR(1.5) S 450| 200 90,000 116] 52,200 84| 37,800
108138 [S=hkXb B 200/ 112 22400 67/ 13,400 45 9,000
hELTE Fx 200 6] 1,200 0 6] 1,200
Joval)—(0.75 FE 150 27| 4,050 0 27| 4,050
108168 |[S=k<k B 200 87| 17,400 53| 10,600 34| 6,800
hELTE B 200 2 400 2 400 0 0
108178 |FREZ— f£= 200 22 4,400 0 22 4400
$EABR(1.5) R 450 85| 38,250 51| 22,950 34| 15,300
CAFELA E 5} 250 25| 6,250 0 25 6,250
JOval)—(0.75 FHE 150 93| 13,950 43| 6,450 50[ 7,500
108188 |FREZ— (A=3 200 38] 7,600 20[ 4,000 18] 3,600
1081980 [FRE— EE 200 30| 6,000 0 30| 6,000
SZhbk B 200 78] 15,600 57[ 11,400 21| 4,200
hELTE B 200 6] 1,200 0 6| 1,200
FEABR(1.5) S 450 81| 36,450 43| 19,350 38| 17,100
108208 |FikfaE& (A3 200 18| 3,600 4 800 14| 2,800
T RE— (A3 200 25 5,000 8| 1,600 17| 3,400
Sl S g B 200 7] 1,400 7] 1,400 0 0




36, —R&E (3 BR5E | 15N S BRFE(ES])
AR5 H @B Hifi | #1= HE | 28 | ¥=E | 5
Z0va1)—(0.75 150 47 37| 5550 10/ 1,500
Bi) 250 30 30 7,500 0 0
FEAER() 250 70 37] 9,250 33| 8250
108238 |S=k<t 200 53 0 53| 10,600
Z0va1)—(0.75 150 44 0 44 6,600
10H26H |[7RZ— 200 31 0 31| 6,200
hERTH 200 11 0 11] 2,200
CAFE A 250 62 30| 7,500 32| 8,000
108278 |#H#kfaEE 200 38 30| 6,000 8] 1,600
FARE— 200 25 25 5,000 0 0
Sl S 4 200/ 238 79| 15,800 159 31,800
AR 300 45 45| 13,5500 0 0
HHE(1.5) 300 154 43| 12,900 111] 33,300
Z0vyal)—(0.6) 200 97 75| 15,000 22 4400
E#(0.8) 200 53 34| 6,800 19] 3,800
FEAER(1.2) 300[ 135 62| 18,600 73] 21,900
HA+¥3) 300 68 68 20,400 0 0
10H308 |#h#kfaE&E 200 13 8| 1,600 5/ 1,000
Sl S 4 200/ 103 73| 14,600 30[ 6,000
FERTH 200 14 14] 2,800 0 0
HHE(1.5) 300/ 100 79| 23,700 21| 6,300
Z0v3a1)—(0.6) x 200 34 27| 5,400 7] 1,400
108318 |[E—<> R 100 16 0 16| 1,600
by =) (A3 200 5 2 400 3 600
T AZ— EE 200 9 2 400 7] 1,400
HYr(E RiE 150 38 0 38| 5,700
Abvyo = 200 13 6] 1,200 7] 1,400
avVYS Fx 100[ 143 61] 6,100 82| 8,200
&t 456,400 365,350




